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Maths By Pradeep Sir -

Ql In the given figure find the angle of
¢ABC. .
= - fRee A7 #H Lasc &1 #1E S1a SifAel

g 10~ Y
'%I — Z)Ll-lo +-\o):-\\*

'
Ex - a

r8 -3
. <
~ "
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Q2. In the given figure, what is the value of
LI L24L3%4L48445=7
&l 91 PIA A, L1422423+24+,5 B AT T

4
L? n ‘,"

(c) 360 (D) 450
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Q3. In the given figure, £.BAC = 70°, £ACB =
45° and <4DEA = 140°. What is the value of
(BDE?

& 91 apfad A, LBAC = 70°, LACB = 45° @I
¢.DEA =140° 2| 2zBDE &1 HATal AT £?

(A) 10° (B) 15°

C
P (c)20° | (D) 25°
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Q4. In the given figure, EF = CE=CA, What s
the value of LEAC?
at o A EF=CE=CAZ @ LEAC &I

Hlel Ol :

A) 58°

(B)64°
C)72°

(D) 32°

20 =96

@ - %3
SR = QL{
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Q5. In a given figure, If AD = DE = EC = BC

thenzZA:4«B=7?
Rese A fRAaAaR AD=DE=Eec =gc A al
ZA : 2B BT AT T EPM?

[ J@e:s

(FER (D)1:2
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Q6. 2 sides of triangle are of 4cm and 10 cm.
If 3rd side is length of ‘'a’ cm then which is

correct value for a.

vas R &6t 2 oenC 4 Aft. Fam 10 At Fh

¢ ageiane af &l Faarg ‘o’ A, A,
a%dnas’ta-mm g? ;
(A)a>5 (B)6cac12




Maths By Pradeep Sir -

Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following

S\ fhor asc & sz o faeg b, 2 o A R
ABC & 3¢ :
A N aﬁaajlamamamt?
‘ :j:; 2(0A+0B+0C)>(AB+BC+CA)
[Ao]Eg> A & (OA+0OB+0C) <(AB+BC+CA)

4C) 2(AB+BC + CA) > (OA + OB + OC)

Hod > AC ~(D) (AB+BC + CA) > (OA+ OB + OC)
Bof+loc] > BC<

% (Ro 4 &o*(vo‘) 7 AB+Ac+Re
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Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD U® dUqafal ¢ 3flz AC a2 BD 3&& &l
fA®of €, At Ao A A Boran Hea T 22

A) (AB+BC+CD +DA) > (AC +BD)
23; éAB+BC+ CD+ oAg <2(AC +BD)
(c)BothAandB /2T A 328
(D) None of these | 351 & &13 a1l
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&Q b > ry Q9. The 3 sides of an acute angled triangle
— \8 %> are 15,17 and x cm. if x is an integer then

Is. 17, x| how many such trian%l:'es are possible ?
2 x_ o (el Sga S 2 diat efwrTe 15 &, 17

IS +x>) 13* Aaft 302 x Aoft ¥1 a2 x vas quifs ¢ at 0 faat
A5 +2* > 289 |137+287 ) x> R Hara T

=26 Syt (yp
[-I>8l A2 Sx
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Q10. If the perimeter of a triangle with
integer sides is 32, what is the largest

possible length of the longest side?
uﬁﬁr&ﬂqm?&agmaﬁamﬂaﬁmnﬁamaz
¢ O JEA at of1 BT Hara AT ol EON ?

—
-

(B) 16

(c)17 ’/\ (D)18
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Q12. If a and b are the lengths of two sides of
a triangle such that the product ab = 24,

where a and b are integers, the how many
such triangles are possible?

af2 a 3z b faseft Rage &t 2 ot 301 Wbt ¥
f& ab = 24, WEl a 312 b Yuifes e g, at e
faat fRefw Zara & »

(A) 12 (B)18

\ - XN -|
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= b DC Q13. Which of the following represents the
sides of an acute angled triangle?

fdest & & Sara, v &1 R &
aforT3i Y zarfar &2 ——

o
1,8, 10 A L“i +Cy> 100 (A)’GT&* (B) 7,8,10

T ha>ipe {(c) 5,12,13 ] (D) None of these
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Q4. Two sides of a triangle are 12cm and 15
cm long and the third side is integer, then
what is the largest value of third side for
which tri- angle is acute.

f&ft 2 2 aTt 12 Af. Fem 15 Af. 2

vaiqufasta‘taﬂaa &1 a8
uf&aawﬁqr?a‘m mﬁsﬁaﬁ%

(A) 17 (B) 18

(D) 20
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Q15. Which of the following combination of
a +b 2C sides results in the formation of obtuse
angled triangle?

. B R & e H ool &
a +bo=c2 fAefSf@a daaa A Saa daaa agl 2 2

atayt e
(D) None of these

RS+ < Q\

1L +35 ¢S
~ (| ¢
\/‘1\(36 \2
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Q15. Which of the following combination of
sides results in the formation of obtuse

angled triangle?
B R & e H sl &
fRefSfAa darvs A saran daaa g1 2 2

(NIRAE (B) 5, 6, 8

(C)4,5,6 (D) None of these
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QI16. In an obtuse angle triangle the length
of side opposite to obtuse angle is Kcm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

cauf?gﬂaﬂm@ ﬂuf%asmmﬁ
K svm <) 12 17
g%’l fAaft Hara & -

(A) 7 (B) 8

(c)9 (D) 10













Tmcemt~2
Ua 4,-F






!ZBIc= Go + %2
LATc > ‘?o,«.éf

_ Lc<
[ATB= 90+ =
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A Q17. In AABC, 2£A = 68°. If | is the incentre of
the triangle, then the measure of BIC is:

AABC & £A = 68° 21 Tf2 | R &1 i@ Hz ¢, at
& | 2BIC B AT FATd B

(A) 124° I (B) 68°

L7 TN @ ()54
4p +~2M > (&\;4})
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Q18. If one of the angle of a triangle is 64°,
then the angle between the bisectors of the

other two interior angles is:
E”Q)uﬁt%‘eﬂfa & BN A ATH 64° ¢, At 3

;’t’:’c‘naf?ai & FAfgaTas & da &1 S

(A) 100° I (B) 122°

13 <  (c)9e° (D) N2° T
ﬁo + 301 =) ‘QQ

a
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——

o+ &

Q19. In the given figure, the angle bisectors
of B and C of an isosceles triangle intersect
at point O. Find the angle BOC (in degree),

when £ABC = £ACB = 75°
gvrzﬁsrrqsﬁﬁ, Rem & Hvrssizc

TJARRAHTAS @ 4 £1 BT BOC &1
e (3t ) mﬁ;! Wd LABC = LACB = 75°

2

e . |
10+ IS 5 Jas

(_‘

(A) mJ (B) 147.5

(C)160 (D) 170
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Q20. In a AABC, the bisectors of 2B and C

meet at O. If 2£BOC = 142° then the measure
of LA is:

AABC & B 3% ¢ & FAfganmas e fA=a
t‘uuﬁmécaarfa’tmaﬂm:{a;mam

(A) 52° (B) 68°

(c) nee | (0) mi

wx Ny
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i .
A Q21. In AABC, AB and AC are produced to
» Points D and E, respectively. If the bisectors
o‘o-f "’of <CBD and BCE meet at the point O and

<BOC = 57°, then £A is equal to:

AABC &, AB 312 AC & el ﬁzﬁzo W ETH
‘\ dgrar rar gl af? .ceD (BCE &
. aafgenas g w2 fA=a €, 3k .Boc = 57° ¢,

a1 LA BT AT ATd Hel

D \) 93° (B) 57°
$7-To- 5§

(C) 6°l (4 _~x (O)M4

g Jo-18

-
2
Gh =




Maths By Pradeep Sir

Q22. In APQR, PS is the internal bisector of 2P
meeting Qrat s, PQ=16cm, PR=22.4cm and
QR = 9.6 cm. The length of SR (in cm) is:
APQR &, PS, S U2 QR & fASA a1 2P &1
yiafde fRamers 2, PQ = 16 cm, PR = 22.4 cm
SﬂZQR 9.6 cm 2 Snﬁm(cmﬂ)m

_‘;12“ -H~ 22l (B)aa

L S (C)4 (D) 6

- 53]

b
P
o
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Q23.In AABC with sides 6cm, 7cm and 8cm,

4 the angle bisector of the largest angle
Slo divides the opposite side into two
G . segments. What is the length of the shorter
segment?
AABC &t e 6 A, 7 Aft., 3iiz 8 A, 2
] Jad @3 &1 FAMGATAD TTHA ATS! o
2 - @A 3 A RenfiAa Hear 21 B Tz &1 Farg
A :'g E fasftg?
Bo= 3. (A) 24/5 (B) 21/5

- K@Fﬁ (D) 56/13

. .
- ' _ -
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Q24. In a triangle ABC, D is a point on BC
such that % = %. If £B = 68° and 4«C = 52°,
then measure of .BAD is equal to:

fAsfci Ac ApWnBcTH CAT AR fd © =
59 af2 /B = 68° 3T £C = 52° A LBAD &1 AT

fdsaran g

(a) 60 | P _ 21 [ (#)30°]
| A~ 3 | L

(c)s0° (D) 40°
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Q25. In AABC, AD the bisector of LA, meets
BCatD.fBC=aq, AC=band AB =c¢, then BD
-DC =

AABC &, LA &1 HATaTAS AD € Wl BC HI D
wRfAsargiaffec=a,AC=b3RAB=c ¢, al
BD - DC fAs=f3faa & A fad azrag g ?

ac a(c+b)
(A) b+c (B) c-b

c-b i a(c-b) ab
© ©) 2
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" Q26. In AABC, D is a point on BC such that

Ay AD is the bisector of ZA, AB =1.7¢cm, AC =

" —_— 7.8 cm and BC 13 cm. What is the length (in
cm)ofDC?

AABC & D, BC U2 U@ 2T fag 2 & AD, <A &1

k. HARHTAS ¢, AB = 1.7 A, AC = 7.8 At 32
& ? - BC =133 2 atpc Ht Fard (A A Far g 2

(A) 5.64 AT TR Y (B) 7.8
‘DC = %x-? > S f(C)S.Z x od (D) 6.5

S = Q |
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)8 °) Q27. PQR is a triangle, whose area is 180

oo cm?. S is a point on side QR, such that PS is
4 3 the angle bisector of 2QPR. If PQ: PR = 2: 3,
\\ then what is the area (in cm(B) triangle

PSR?
6 \R PQR U@ fRa(d 2, fAaasT Slawe 180 Al 215,
T 5 3 g wa%mm ¢ f&Ps, .QPRTZ

PQ:PR=2:3 ¢, al fAaw
3¢ Psnmam(ﬂvﬂ)im%’

(A) 90 llﬂ-

3
- (C)1a4
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Q28. The perimeter of AABC is 24 cm and its

Ard side, BC = 9 cm. AD is the bisector of £BAC
& \ while lis the incentre. Al: ID is equal to -
. \ b AABC &1 ufRfAfA 24 Aaft 2 3z 3861 efvn BC =
s 9 Aft 21 LBAC HT FARamaTa AD 2, afds |
\ 3id: dog £1Al: ID T -
B > \e

T
J
1 "
Y
o
+
2
|
JI




LA] Q29. In the given figure, ABC is a triangle.

d The bisectors of internal 4B and external 2C
intersect at D. If 4.BDC = 48°, then what is
the value (in d?rees) of LA?

& uf pfd A, ABC 'S R 21 B &I
o c mféasaanécmarm@mgaa Lotre

ufdedz &za 21 af? .BDC = 48° &, @t A &1
arat (Rft ) = 22 |

- Maths By Pradeep Sir

A v
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Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?

fAs(ct ABC # AB: AC = 5:2,BC = 9 cm €I BA

®! D dF FSAT ATAT £ 3 BT CAD BT
mmwacaewﬁmtlcsﬁ
(cm &) ATd B2

(A) 6 (B) 9

(C)1wo ME:
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Q31 In AABC, 4B = 72° and «C= 44°, Side BC
is produced to D. The bisectors of 4B and
¢LACD meet at E. What is the measure of
LBEC?

AABC &, £B = 72° 312 .C= 44° 21 3fwn BC, fAsg
D d& ders wrdl g1 «B 3T <ACD & fRamois
g e fATa g Bec Bl ATaIFAE 2

(A) 58° (B) 46°

o
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Q32. If the altitudes of a triangle be 3,4,6

) I By find its in rodius

™ ° kA ;,, & &34 3,4,6 21 a1 38 Refw 6l
mqmﬂ SiTd &

» |
wr 3 Yy ¢
(c)e/7 (D) 5/4
N M+3ta
Y \Q
T ey (-




Q33. If the given figure point | is the incenter
of AABC then find EC.
fae Ire A3 A af? ), AABC &1 3ea: Bz ¢ al EC
&1 SFarg St HifAe)

Maths By Pradeep Sir
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Q34. If the given figure CE - BC = 6 then find

BF
?’E] the value of BE.
fee are @3 & af? ce-BC = 6 £ &t BE & Faard

ra HifAel
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35. fRe e A3 & ~BAC = 120° 37T AD, ,BAC &1

e @ Fafgeeie ¥ 1 afe 2047 - A i
(“Ho ZEDC = £ECD §, aésmmmml

r‘ A) 40
“[(BY20

(C) 60

(D) 80
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A 36. If the following figure, AD bisects angle
< R BAC. Find the length of BD.

fsst anpfd A AD ®H1v1 BAC & HAfGanfAa

\2%:  wzar i ep & ST Ara Sifae
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37. What is the inradius of the a triangle
- — whose
"B side are 13,14, 15.

*: “*}f*‘l 3+imyis T fRe 6t sia: A sa &2, afk Iad
2
fisiY afoime warer: 13, 14 3112 15 2
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e

g

{
—

N\

10 —

drs

—
I 3G

P
/i
W Ys
A3 .
@ N
BE 3

T

38. PQR is an isosceles triangle with sides
PQ=PR=45cmand QR=72cm. PN is a
median to base QR. What will be the length
(incm) of PN?

PQR aaﬂaalg fa t fAadt 3151“!* PQ =PR =
45 A 3. qan Qnﬂz A3 21PN murzgh%n &Ht

AEDHT 21 PN BT Haars (A3, ) s geft 2
(A) 36
B) 24

\D 32
< )?
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39.Ina AABC, the sidesare AB=16cm, AC =
63 cm, BC = 65 cm, From A, a straight line
AM is drawn up to the midpoint M of side
BC. Then the length of AMis equal to:

AABC &1 3{ATE AB = 16 cm, AC = 63 cm, BC =
65cmZIARA BC & g g M & v
TS ST AM Ardt 21 AM &t Saarg aerae

; T o
3.5cm |
C

sc; 23.5¢cm
D

31.5cm
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—l

b?— ra® = & ,;-?/ 40. G is the centroid of the triangle ABC,
where AB, BCand CAare 7cm, 24 cm and

25 cm respectively, then BG is: )
A o & fa{c1 ABC 1 Foue G §, IAD! AUATE AB, BC
» 35

)] CéA a2 7 em, 24cm 312 25 cm £1 BG &1
Al &
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&5 M

41.In A ABC which is right angle at A and BC

is 5 cm.. BL and CM are medians. If BL 2

then CM will be 2
AABCH Tt Az aFBIvfla g sz fAadA BC = 5

At 2, A anfedase BL a2 oM &) e, af
BL = —— &aft. At cm & Seard fbastt gfte

cm.

2

B e
— =2 Re
A) 25 &t b“ ”‘“”q‘@ﬂ




Maths By Pradeep Sir -

-75 |

42. PQR is a triangle such that PQ = PR. RS
and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the
value of (PQ/QR)??

PQR 38 U&TE &1 U Ao 2 f PQ = PREIRS
a1 QT T2l T3 PQ AT PR U ATfEABTC 2
af? sfeAHIC RS TAT QT HASIVT Gz UidwdT

c et g, A (PQ/QR)* BIATATATE ?

@ (e

(D) None of these
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43. G is controid of given AABC.GN = 4 cm,
GM = 3 cm, £BGA 90°, then find the length of

GC.
3 A fAs(w1 ABC aﬂm(ptl GN = 4 &1,
GM = 3 At daT .BGA = 90° ¢, al cc &t
S3ars Ard Hifae ?

A (A) 6 cm.
< (C)S5Scm.

(8)10em. |

g D)9cm.
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44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?

AABC & H1Ea& AD, BE 312 CF 3a@dfd ¢ Uz
DAt A A AT AL ?

SA; AD + BE +CF >SAB+ BC + AC)
B) 2(AD +BE+CF) > (AB +BC + AC)
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45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA » 2AD.

Which of the above statements is/are correct?

fasafa3faa suat gz fFar Hifav:
lﬁraﬂfa &1 uftag 3adt e Afedsi & s

ﬁrj?fgaﬁmcﬂ gRRecmHERAT[TD L, A AB+BC
+CA > 2AD B1ar I
(A) 1only
(B) 2only
(C)Bothland 2
(D) Neither 1 nor 2
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M, . ma, m3 47. In AABC, the medians AD, BE and CF
meet at O. If AD, BE, CF are 10, 24, 26 cm.

Avon: 4y | -then find the area of AABC. _ .
3 JS‘“@"‘- m)(sn-n)HABC H AD, BE 312 CF AIfEAWBIC Uz fAwdt 2
AD, BE, CF 10, 24, 26 A3t &1 @t AaBC &1

3 10 + @y =

e (B) 180
[ \ (c)so 9 \
‘V\ulﬂ-m-f‘: N (D) 170 Qf\\“’*&*\

[AW" 32 N K? \L;l
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48. In the given figure G is centroid of AABC
and BG= 13, GC = 9, BC = 5 then find the

value of AG?

@ af snpfd A 6, A ABC &1 FHaab ¢ W BG =13,

B +inet = (X + 9D

"]+ -

' GC = 9, BC =10 £ a1 AG &1 AT ATd HifAv!
3

e ™ B) I

S

Q( 'I.L"" 4(’)

C)15
D) 18
X = 100
X =\p
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49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the
length of AG?

AABC & =11 BC = 10 Al 3% 6 Foga 21 BE

1T CF el HATHT AC 31T AB U2 AIfEAHIC 21

af? AfeA®HIC BE 3T CF AASIVT U2 ufdade
< @edl € at oo AG Y FFaTE A1d Hell

- locm . - A) 5
C)15

(D) 20
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N

I—

50. G is the centroid of APQR and medians

QT and PS intersect at right angle. If QT = 27

and PS =18 then find the length of RT?

fA3{c1 PQR &1 Foud G ¢ 3 AfASIC QT 32

PS U~ T2 &I HaAdIv1 U2 ufdwde sedl g1afd

QT = 27 312 PS = 18 § Al RT & HFaTE ATd Hel
A)10




[( AL sl ofF T’ﬁwy(m]

(57 b aly o=
,gﬂur(:é
















Lxds
-



9(,)& P eapenidlicrd o Brovector (22764 nmgo,mg

[rCcumCenst+2
YR o






Lgscz-‘z(‘\
LA& W T
LAk ~ U
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LO = éguq
I

55. O is circumcentre of AABC if 4.BAC = 85°
<.BCA = 80°find 2 OAC.
AABC &1 ufedor Et_r af? .BAC = 85°, .BCA =
go° al LOAC &-

(A) 60°

c (c)8o°

(B) 75°

(D) 30°

O+ +30= 10

2m = |ISY
@= 35




Maths By Pradeep Sir -

A 56. If O is circumcentre of AABC and 4BAC =
58° then find the value of 2 OBC?

af? v fAae ABC &1 UfR@ay O  dAT LBAC =
58° dd LOBC BT ATA TATE ?

A © (A) 29°

%
© +0+ \\¢ =10

% A0 = 6Y (C) 48°
[@ : $9 \ (D) 58°
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X 57.Ina A PQR, 20 = 60°, PR = 146 cm. find the
circumradius of triangle PQR.
fA9(a1 A PQRA 2Q = 60°, PR = 146 A T, Ao
PQR B AET Fa S AT ¥ 2

~ R (A) 7V7 em
M Se - AR E_:ﬁ (B) 7V3 cm

%
S
&Y
(-

4

1’,4_.1 l-'-é‘l“ \K (C) 7\'4’6 cm
5
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58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides
are6,8and10cm?

va s & g.83RwWEIzARNA S
sremt: g 30 afoaeg % a1 2 e Nordn

(A) V5
(B) V6
(C) 2V2
(D) V7
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A 60.Ina AABC, AB=17.5cm AC =9 cm. Let's

D be a point on BC such that AD is

perpendicular to BC. If AD= 3cm. Then what

\1-S g is the ratius of the circle circumscribing the
9 AABC?

A ABC # AB =17.5 &1, Ac = 9 &l FTaT BC WR

pfAgzavsr B Ap18caR AD 3 AM T A

¢ > & AABC & UfRdsey &1 fAan sita &2
*
R = &xbxc B) 52.50
Mo icg 13.125
R < "“SM;?(:( D) None of these

— ) SQS
' — e .
};;\x}( - = °9\€ &?




Maths By Pradeep Sir

6. What is the maximum number of
circum-circles that a triangle can have?

e Ao & fds A yfds fFaa ufRga 2
mz?

(A

(c):

c)3

(D) Infinite / 3fad
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8 62. O is orthocentre of AABC if «.BOC = 120°
find 4BAC
o fAa{7 ABC &1 &ad Fow £1 TR LBOC = 120°,
al 2BAC - A
(A) 135°
B) 90°
A
< |
Boc = 1360 -LA -
B C
Boc = \Ro~-LA
180 = \80—LA

LA < Go
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63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If ZBOC = 54° then find
LBAC.

vs fdssivfia A aAsc / A ifds St 2

2 IAD| Hadon g1 dgejae, Afd LBOC = 54°

21 al .BAC faaT 2o ?
. A) 10§
!C!ISG 9
(D) N6
| 80 ®
e, |
| Q¢
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64. If the altitudes of atraingles are 3,4,6.
Find the ratio of its sides. |
v b fft R & fiail Soal H Ssardai 3, 4,6 2
at 3& fRa{c 6 a3 &1 3e(uTd E9M-

A) 3:4:6

B - le
a C) 3:4:) Aa\
(D) None

?'/?‘0“‘3 = b = fﬁcﬁé A = ..L‘I\EAXQ
<
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- 65. In a triangle two altiude are 4 cm and 12

i d cm respectively and all the altitudes are
7 +e‘3< ha < i’xgﬁl integrers. What could be the largest
! T A

possiblé length of the third altitude?
vs A & 4 &3 4 cm 3T 12 cm 21 Faft

URIR P g mmm:-waﬁ{ﬂmm
‘ A) 4
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#=*"A  66. In AABC, <A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively

e hen produced). If the bi- sector of LOBC

-
AR
va
i

N

ond 20OCB meet at P, then the measure of

_BPCis:

AABcaVLA 52° 312 v& w1 &1 Ha dow &

ggra COTaBHA:ENRFUZACTT AB A
¢ 9Ta 3¢ visya fan wiran )1 af? coBc

3hu<>ca$ mpwﬁaﬁt at.BPCE:

124" \Ro-LA ST

|32° wAl

ici 138° ‘_ A =
R S
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BO

67.A0 =8cmand OD = 5cm— = %ﬁnd the value of

OE’

aff Ao = s @M 3z op - sﬁaﬁf’—):l- ;tmoemm’fl

(A) 2 [=
v 3

(D) None
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68.fAO=8cmand OD =5 cm find BD-DC =
2 gf2 Ao = 8 &4ft 3012 oD = 5 @Mt £ &t BD-DC

(p)no \ARa)

Q Q0-0
®
£l

8 q,_ ) U
Qo-o v

ODxAD= X RD
Sx|3= COARY
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e 69. If AABC and AD 1 BC, P is point of AD if AB
=16cm, AC=15cm,CP=12cm is BP?
af? fAsfs1 ABC 3R AD L BC, PfAd@ w2 2 &l AD
[: \ wRAB=16 M, Ac=15AficP=12@f 2 A
1 4AL
-
(B) V7
& c ()47

D) 67
EB‘L+CP2:F\C2‘+QP"-:} () v

LTE+ 14y = Qa5 + BP™

L = 2 -
(400 =S5 -‘-R9l B P= 65)\1‘ + B e
Be% - \3s &y — S,Fl-—




- A L N

70. AABC is right angle triangle where £ABC

qwnt %Q( = 90° and BN is perpendicular to AC. Here,
V AB=6cm., AC =10 cm. then find BN?

RN AABC U@ HH IV Ao ¢ fAaad LABC = 90°2
" 312 BN, AC U2 &34 21 35A AB = 6 Adfl., AC =
g X 10 Aaft. 2, At BN fasaen 2om 2

3 \ A) 3.4

(B)48 2 a%
(D)4.4
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71. C is the mid point of AB and 4BAD is
equal to 2CBE and £ECA is equal to <DCB. If
<E = 30°. Find D.

afé c, AB &1 #ey faey € 3T LBAD, LCBE &
2 LECA, .DCB & @TTa? g1 3912 ZE = 30° ¢, @t
LD =?

(A) 60°
(B) 15°
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72. The sides of a triangle are 4 cm, 8 cm
x@ and 10 cm. Find the length of the shortest
\0

side of similar triangle whose longest side is
1I5cm?
g ua?gajwﬁaﬁmamﬁ, 8 At 3itz 10 A<ft 21
\ 38 dHASY Refw & TaA Bt afon a2,

kG Sadl ofeAn 15 At 21
5;‘2: ol (A)acm/
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»  73.Ingivenfigure AD=6cm, AP=BP=3cm,
ZAPC = £BPD and 4DAP = £EBP then find BC?
" f2a A 3 & AD = 6 Aft, AP = BP = 3 At

\ ’ [ e LAPC = (BPD 31T .DAP = ,EBP 8, A BC W

A\ R AT STd HIfAD ?
A : * A) 3 cm/ &3t
B9 L E0ALA o [(B)6cm/&HAT
A 3 P 3 8 (c)scm/aa

(D) None

A
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op s 74. D is a point on side BC of AABC such that
| 5= ADIBC. E is a point on AD for which AE: ED =
. co 9:1.If«,BAD = 30° and tan £ACB = 6 tan DBE
o then £ACBis?
8= < fAaw aaBc &t afw BC T2 D v AT Ay 2, 1

AD, 3T BC UZ &34 g1 E, AD U2 U faeg ¢ 3l

AE : ED = 5:121af2 2.BAD = 30° 3ffZ tan ZACB =

6 tan .DBEZ! A1 2ACB="?

Sy (A) 45°
- 0° -\.q((\Q) -

(22) @e=8D[(c)eos

2 S
B’ N
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75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
LABC? .

fA3(c1 ABC & AD 3T BC U2 &4 21 3T AC W2
B & 313 1A a4 &1 UTE g1 AD 3T BE U
| ®! fdsg o uz ufdwdz Hed €1af? Ac = BO
c g, d LABC &1 3T i1d HifAd 2

A 30° G /Al #o " @
(B) 45° X\
C) 60° ©

(D) 90°
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76. AD is perpendicular to the internal
bisector of ABC of triangle ABC. DE is drawn
through D and paraliel to BC to meet AC at
E. If the length of AC is 12cm. then the length
of AE (incm) is. .

AD fA3(1 ABC & £ ABC & HTafRl® fReimoias &1
&d 21 DE, D & §i&¢ 3R BC & HaAlae daidl
wral ¢ fAaA Ac &1 £ w2 s a@&)1 afk ac 6t
wlzﬁaﬂ.ta}uﬁm(ﬁvﬂ.mm

?

:
&, SF A\\\




Maths By Pradeep Sir -

’ 77. Vertex angles of two isoscles triangles
are equal. If ratio of their height is 3: 4, find
‘ A the ratio of their perimeter-
z’tzm%zngﬁaja’l’as i ®tor Fama E1 af?
AT 3 Iardht FaTEal BT 3T 3 : 4 & A IoTd gfRaTal
&1 3He[urd E9m-
(A) 6:8 (B) 4:3
(c)9:16 (D) 3:4 |

P - PR = 3.\
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. =
79. In the given figure, if — = — and PY = 18 cm,

'8’ then what is the value (in cm ) of PQ ?

\Q
4 f arpfad A, afe L =~ aer py = 18 Al A A
fPQmm(ﬂaﬂ.ﬂ)mt?

(A) 28
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81. In the given figure. if AD =12cm, AE= 8
cm and EC = 14 cm, then what is the value
incm) of BD?
g anpfa A, af? Ap = 12 A, A = 8 A,
genec = 14 @3ft. 8, at BD &1 31 (A, A) T
?
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ar(AABC) l .
A ABe ~ AL@ R 83.Let A ABC ~A QPRand *"= = — If AB = 12
cm, BC = 6 cm and AC = 9 cm, then QP is equal to:
Poo 9 T |
3ATAT A ABC ~A QPR 3&2:;}3; =2 g1af2 AB =
Shola, 3 Y i
12em,BC=6cm3MRAC=9cmE ANQrP a2
N 4 |

= X ((A) 16cm (B)9cm

Y o
| (C)12em (D) 8ecm
Uw;lé
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85. In APQR points T and S are on PQ and PR,
re- spectively, such that TS is parallel to QR.
HTQ=72cm.PS1L.5cmand SR = 5.4 cm.
then find the length of PT.

APQR &, f@g 1 312 s w2l PQ 312 PR W2 3
WeREfB TS, QrRFEFAAZ Z1AR TQ=7.2¢cm
PS = 1.8 cm 31T SR = 5.4 cm 2, @t PT & Sarg
STd &

(A) 3.6cm

(B) 2.4cm

icg 1.35cm
D)4.2cm
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86. In a given figure, AB||CD|| PQ, AB = 12
cm., CD=18cm. and AC = 6 cm. then value
of PQ (incm.)

will be-

ResefRAaAaAsllcplIPQ AB=1233ft, cD =
18 @3fl. daT Ac = 6 A, at PQ &1 AT (FAL.
A) 2-
(a)=
(8)
(C)e
(o) -
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87. In AABC, F and E are the points on sides
AB and AC. respectively, such that FE || BC
and FE divides the triangle in two parts of
equal area. If ADLBC and AD intersects FE at
G,thenGD: AG =7

AABC & AB 312 AC {134 U2 el fAg F T E
38 W ¢ & FE | | BC a2 FE fR9(w &I HaATa
Sa%e are & AN A RanfAa et 21 afk
AD.1BC 3R AD fAGc R FESBI HedA 2 At 6D :
AG=7?

(A) V2:1

(B) (V2 -1):1

(C)2v2:1

(D) (VZ +1):1
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. AD 5 €0 BO .
88.Inthe givenfigure — = -, — = -then — =7
OE 4 0D

f&mmf%aﬂ% ‘—‘j ’t z‘,’mﬁﬁc
(A) =

-

38
(B) =

37
(C) -

(D)
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89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. If area of BOD
and DOC are 26 cm? and 13 cm?. Find the
area of AABC
fAs{c ABC &, fdsg O, AB, BE 312 CF &1 ®HeTal
?WQ%ADEY& 3 3e[urd A fRanfAa
¢, af? fAa[@ BOD 31 DOC &1 YA
@Rl 26 32 30 A, 2, a AABC &1 HAGS
Sra HifAA
(A) 52cm?
SB; 56 cm?

C)54cm?
(D) None
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90. In the given figure 0 is in-center of A ABC and if

AO 7 CO 5

. BO
‘ —==thefN—=7
OF 4’00 3 OF

aRMARAH 0, AABCH Iadw M= = - —
2, @ 2 &1 et Sira Hifad

(A) =
(8)

(€)=

(D) None

Wl-“
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1 BD

AF 2
?: In the given figure — = -, — = - then find the value of

EA
ResefadA - - = = -3, @ s1amE 5a $ifde ?

)

In the given ﬁguro = 2 2% = 2 then find the value of 22
S 2 OF

'BE
ResefRadHil-2 “ - t m%mmmﬁfﬂa?

cb ')

(a) = (8) ;‘—f,

(c) '—75 (D) None
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92.In A ABC,X is a point on AB such that AX = 2
BX = 4. AC = 7and BC = 5 find CX. A ABCH X USH
fdeg AB U2 38 wsR 2 f Ax = 2 Aft. BX = 4 AL
afz Ac =7 @M. 3R BCc =5 AM. @ cx & FA=

aarnsit

OF
(B)6
(C)3
(D) None of these
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93. AD is the median of A ABC if AO: OD=5:3
find the AE: EC.

(A) 5:6
(B) 5:8

sc; 6:5
D) 3:4
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94. In the given figure AG:GD =3:4,BD:DC =
4:7, AE = 24 cm then find the length of CE.
f2d 313 A3 & AG:GD = 3: 4, BD: DC 4: 7, AE =
24 A 2, A ce A HIAA 2
(A) 44cm
(B) 88cm
(C)84cm
(D) 85cm
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95. In the given figure 2= = 2 2= - 2 then find the value of
cD > BE 4

AD
OF

Remefads - = -t a=a
(A) =
(8)—

(€)=

(D) None
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96. In the given figure AAPJ, PR: RJ =5: 3, AQ

: QP = 3: 5. If area (APOJ) = 25 cm?. Find area
of AAPJ

23 313 AAPJ & PR : RJ = 5:3, AQ: QP=3:5 ¢,
af2 APOJ &1 B 25 cm?* &, al fAw APJ &1

TGS ATd HifAD}

(A) 65
(B) 78
(C) 60
(D) None
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97. In the given figure AP=6cm,CP=5cm,
PD=2cmPE=1cmand PF=3cmthenBP =
cReefRaAAr =63, cp=534f., PD =
2 A, PE = 1cm @M, 32 PF = 3 8, @t BP &1
ATl AATd HifAA 2
(A) 5cm
(B) 6cm
(C)7em
(D) 8cm
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO: OF = ?

af2 fAs(e AABC, AO: OE = 5:4,CO: OD = 3:2 ¢,
dl BO : OF SiTd HifAA 2
(A) 38:7

(B) 36:7

(C) 29:4

(D) 4:7
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99. In the given figure 0 is in-center of A ABC
and if 22 = - ngthen%: rafRMmAfRAaHo0

OF 40D
: AO _7 €O _5 BO
Aacamramtshzm =2, o0 = 32,31("2513113
iTd HIfAA
61 65
(A)g (B)g
(c)= LG

36
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100. In AABC.D.E and F are lie on BC.CA and AB
respectively. AE = AF =CD = 2,BD = CE =3 and BF =
5. If DE and CF intersect of 0.

- oD ocC
na -— ana -—.
Find OF and OF

fssr A ABC #, D,E 3R F %3w: BC, CA 3R AB WX fua #
AE = AF =CD = 2,BD = CE = 3 3T BF = 5 ¥ | I% DE 3ix

CF feg 0 W wfaredz w3 ¥, &t = ol = wma Afara

(A) 5:3,19:21 (B) 5:7,19:31
(C) 4:3,17:2 (D) None
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101. In the given diagram AB || GH || DE and
GF || BD || HI, 2FGC = 80°. Find the value of
<CHI. f2e sre & & af? AB || GH || DE 3112 GF ||
BD || HI, ZFGC = 80° &, &l ~CHI &1 AT AT
&l

(A) 80°
(B) 120°
(C)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

ficmf%aﬁamf%wmmta’laﬂmt\, B, C,
D 3112 E &1 391 AATd SN

(A) 120°
(B) 180°
(C) 240°
(D) Can’t be determined
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103. In the figure find x. x &1 #Tal STd &2
(A) 60°
(B) 50°
(C) 45°
(D) 30°
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104. In the figure find x. x &1 AT SATd He|
(A) NO°
(B) 120°
(C)105°
(D) 90°
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105. In the given figure PQ is parallel to RS, £
AEF = 95°, «BHS = 110°, and 2ABC = x°. Then
what is the value of x ?

fRe J1e 3R&E A PQ, RS A TAIAT 2, LAEF = 95°,
£BHS =110° 312 LABC = x° 8, Al x BT ATA FATE ?

(A)15
(B) 25
(C) 30
(D) 35
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106. In the figure find x and y.
X, y &1 AT SATd B2
(A) 40°,95°
(B) 55°,95°
(C) 95°,40°
(D) 90°,45°




e 1 Maths By Pradeep Sir i .

107. In the given figure lines AP and 0Q
intersect at G. If LZAGO + /PGF = 70° and
£PGQ = 40°. Find the angle value of .PGF.

R A A7 & AP 31 0q, 6 fasg w2 Hed ¢

3T LAGO + 2PGF = 70° 312 .PGQ = 40° E1 &Y

£PGF &1 HATS SATd Hel
(A) 35° (B) 40°
(C) 60° (D) 70°
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108. Find the values of x and y?
x 312 y &1 ATA ATd He|

(A) 70°,65°
(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of xand y?
x 312 y &1 ATA ATd He|

(A) 60°,100°

(B) 65°,105°
(C)105°,65°

(D) 100°,105°
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0. Find the values of x and y?
x 312 y &1 ATA ATd He|
(A) 75°,90°
(B) 90°,75°
(C) 70°,95°
(D) 95°,70°
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NL.Findthevaluesof x, yandz? x, y M2 2 &1
ATl SATd B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°
(D) 50°, 50°,130°
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N2. Find the values of x ?
x &1 AT STd He|
(A) 50°
(B) 55°
(C) 45°
(D) 60°
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3. Find the values of x ? x &1 AT STd He |
(A) 120°
(B) 105°
(C)125°
(D) 100°
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114. Find the values of x ? x &1 HATal ATd He |
(A) 75°
(B) 60°
(C) 45°
(D) 65°
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115. Find the values of x and y?
x 312 y BT AT ATd B2
(A) 79°.117°

(B) 87°,115°

(C) 81°,121°

(D) 73°,105°




Maths By Pradeep Sir

116. Find the values of x and y?
x 312 y &1 ATA ATd He|
(A) 71°,32°
(B) 73°,34°
(C) 69°,31°
(D) 72°,31°
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N7.Find the values of x ?
x &1 AT STd He|

(A) 55°

(B) 53°

(C) 56°

(D) 51°
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N8. Find the values of x ?
X &1 AT STd He
(A) 79°

(B) 81°

(C) 89°

(D) 84°
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N9. Find the values of x ?
X &1 AT STd He
(A) 142°

(B) 141°

(C)143°

(D) 144°
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120. In the fig given below PQ|IRS||TU]IVW, PR
=10cm,RT=22cm,TV=16cm, QW =42cm
then find QS?

fRe se @3 &, PQlIrRslITUIIVW, 3(<T PR = 10
cm, AUl RT = 22 cm, AT TV = 16cm, 3l
QW= 42 cm AT QS &1 ATl ATd Hel|
(A)15cm (B) 8.75¢cm

(C) 22.5cm (D)12.5ecm
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121. In the given fig AB ||ICDJ|| EF|IGH, if BH =
IB8cMAC=2Icm, CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? f2e J1e @3 & AB |ICDI| EFIIGH (AT BH =
188 cm, VAT AC = 21 cm, AT CE = 12cm, vl
QR=18cm HWI RS = 21 cm, EG + PQ + DF &I

AT AT & ?
(A) 91.5 (B) 93.5
(C)97.5 (D) 99.5
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122. In the given fig below AB ||CDJ| EF, if AB = 30

cm. EF = 50 cm, AC =% CE and BD is x cm less

than DF then find cD = ? &fid Rz se A3 & AB ||
CD || EF T2 (AT AB = 30 cm 3{12 3T EF = 3 50 cm,
AC = CE, W1 BD, 3T DF & x Al &1 21 aa afon
CD &1 ATl FATEFN ?

(A) — cm (! Zﬁcm

(C) — cm (D) 300 cm
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123. In the given figure O is the centre of the
circle. AC = BC and £AOB = 120°, then find
the value of £.CAO.

{22 312 {7 A g &1 &ow 21 AC = BC dAT LAOB
= 120° gl at LCAO T AT EIM-

(A) 30°

(B) 45°

(C) 60°

(D) 65°
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124. In the given figure O is the centre of the
circle. 2 OAB + 2 OBA =100°, find the value of
LCAB + LCBA.

32 A A3 A ga &1 How 21 LOAB + LOBA =
100° 1 & .CAB + 2CBA &1 AT EI9TI-

(A) 50°

(B) 40°

(C) 60°

(D) 55°
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125. In the given figure O is the centre of the

circle, then find the value of 24BCO.

f3A A Az & ga &1 ex 2, @t .BCO H A
Sira Hifae ?

(A) 50°

(B) 60°

(C) 70°

(D) 140°
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126. AB is diameter of the semi-circle. Find
the value of BDC.

AB TTH &1 HFHJd &1 .BDC BT AT~

(A) 130°
(B) no°
(C) 90°
(D) 100°
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127. In the given figure, if ZAOP = 75° and
ZAOB = 120° then what is the value of
(AQP? FU2 fRe e fAa A, af? LAo0P = 75° 3
¢AOB =120° at LAQP faan £ 2

(A) 45°

(B) 37.5°

(C) 30°

(D) 22.5°
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128. The centre of circle is O. AC and BD are chords of
circle which intersect at P. If ZAOB = 15° and ZAPB =
30° then tan? £APB + cot? .COD is-

U g &1 dow &1 AC Td BD Fa &6t oftar § &t p 2 e
21 af2 LA0B = 15° 31T LAPB = 30° @l tan* LAPB + Cot?
£COD &1 A &-

(A) 5 (B)

4 10
(©): (D)=
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129. An equilateral triangle ABC and a scalene
triangle DBC are inscribed in a circle on same
side of the arc. What is 4.BDC equal to?

US HAAE fA9fe1 ABC 3 vas fAwarang fAs(w1 peC
TS gd A 919 & U ¢ aw 3ifdsa fbe ana €1 .soc

fSadsauraze?
(A) 30° (B) 45°
(C) 60° (D) 90°
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130. The centre of the circle which passes
through points A, Band C is O. If ZBAO =
30°, «.BCO = 40° and £AOC = x°. Then find
the value of x. f@sg3if A, B @1 ¢ A I[wigal a1
TS g &1 dow ¢ 3T LBAO = 30°, LBCO = 40°
T LAOC = x°, x BT ATA TATE ?

(A) 70° (B) 140°

(C) 210° (D) 280°
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131. In the given figure O is the centre of the
circle and ABJ|CD. If ZADC = 25°, then find
(AEB- A A ga BT O MR ABIICD &
af2 LADC = 25° §l, @t LAEB SiTd $ifAe-

(A) 45°

(B) 55°

(C) 50°

(D) 40°
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132. In the given figure O is the centre of the
circle. ZROS = 44° and RO is the angle

bisector of ~PRQ, then find the value of
ZRTS.

R I A7 & ga &1 Sow 21 LROS = 44° AT
£PRQ &1 HAZHTAS RO & Al LRTS T ATal-

(A) 46° (B) 64°

(C) 69° (D) 68°
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133. AB is a chord of a circle in minor
segment with center O. C is a point on the
minor arc of the circle between the points A
and B. The tangents to the circle at Aand B
meet at the point P. If ZACB = 102°, then
whatis the measure of L APR"

AB, O &g dI® (minor
SQQment)ﬂGﬂmtlc % ﬁZB*m*q?{
& &Y 99 U2 TH B gu &I zef &t

fag p w2 fAat €1 Tl LacB = 102° 2, &t 2APB
&1 ATY ST Hel

(A) 24° (B) 23°

(C) 27° (D) 29°
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134. Inthegivenfigure, £ QRU=72° 2L TRS = 15°
and PSR = 95° then what is the value (in
degrees) of 2 PQR?

& o1d 3npfad A, LQRU = 72°, LTRS = 15° dAT
(PSR =95°%, Al .PQR&BT AT () AT g 2
(A) 85 GEL

(C)75 (D) 90
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135. In the above figure, YAX is the tangent
on a circle having centre O. If ZBAX = 70°
and 2 BAQ = 40°, then what is the value of
ZABQ?

g A3 A, vax ga & Gae e 8, =qef
oan ¢ af? BAX = 70° 3% .BAQ = 40° &, @

(ABQ fFad aeraz e ?
(A) 20° (B) 30°
(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.

3l Adboul gal &1 A waer: 13 A, qen 8
Aft. €1 AB @2 1 &1 1A ¢ AT BE BIE g W2
mefmt'aznmgaﬁ D faeg we waef wedl
£1 AD & Fearg A ?

(A) 20 A,

SB; 19 A,

c) 30 &,
(D) 31 &1,
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137. In the given figure O is the centre of the

circle. Line UTV is tangent to circle at T. VIR =

52° and PTR is an isoslece triangle such that TP
=TR.Whatis the valueof x +y + 2?

fae Jre Az & ga &1 Faw o 21 2@ uTV Fa 6 el
W T U2 E, LVTR = 52° 312 fAW PTR U HARaE
Ry g saverRefBTP=TRE-

X+ 2y + L2 MWt ?
(A) 175° (B) 208°
(c) 218° (D) 250°
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138. Tangents PT and QT are drawn on a circle of

radius 5 cm from point T which is 13 cm away
from the circle. What is the length of AB?

faeft faeg v & ot 5 Al A a1 S ga & Sow A 13

Aaft. gz ¢ el Tae pr 3 Qr 32 it F 21 AB
& seard fdasft g 2

(A)? cm (B)zT0 cm

((‘):—(: cm (l))z—’2 cm
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139. Let PAB be a secant to a circle intersecting
the circle at A and B. Let PT be the tangent
segment. If PA = 9 cm and PT =12 cm, then what

is ABequalto?

el ST pAB US gu 6t ves Bes 2an ¢ ot ga @)
A 32 B W2 &t 21 aa SifAe pr wef s

(EAz AydAe) 21afRkRPA=9cm 3R PT=12cm e, &t

AB fFad auraz 22
(A) 5ecm (B) 6cm
(C)7em (D) 9cm
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140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
and S respectively, and 4B = 90°. If AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?

P, Q, R 312 s f@g3if gz waer: AB, BC, CD 31 AD &)
el Hea gv vs dqefel ABCD & aftaz ve 3w
FSATA1 ATAT § a1 «B = 90° 21312 AD 24 Aft, AB 27
At slor =6 AM 2, A ga Sl aRfda=m?

A; 20m
B)18n
C)15n
(D) 12n
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141. A circle touches the sides BC of AABC at D
and AB and AC are produced to E and F,
respectively. f AB10cm, AC=8.6 cmand BC =
6.4 cm, then BE?

U& g AABC 61 BC o U2 D & T Hearg AB @
AC B! B2l E JAT F a6 A9 311 3111 af2 AB =
1033, Ac =8.6 @afl. 3t BC 6.4 3. 2, At BE="?
(A) 3.2cm/ &3t (B) 3.5 cm/ @41,

(C) 2.2cm/ @3t (D) 2.5 cm/ &1,
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142. In the given figure, PQRS is a square
inscribed in a circle of radius 4 cm. PQ is

produced till point Y. From Y a tangent in drawn
to the circle at point R. What is the length (in

cm) of SY?

al g #, PQRS, 4 . A aS v ga A
sifda a3l 21 PQ & Y d& aa1al mntgauzv
a R U2 v zuef 2o offeft oreft 21 sy &l saard
(Faft) Aame?

(A) 4V10 (B)2V10
(c)6V10 (D) 3/5
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143. Two circles touch each other externally at
point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of 2 APB.

3l g9 va g &1 p fdey ue arg) waef ®ea ¢ aon AB
ves Hieht 3orafates zqef 2an @ ot 3¢ warer: A qean e
fasg il uz zuel sl 21 LAPB &1 &1 E19M-

(A) 45° (B) 90°

(C) 80° (D) 100°
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144. Two same circles of radius 5 cm has a

direct tangent AB and a transversal CD which
touch circle at A, Band C, D respectively. fCD =
24 cm then find the length of AB (incm)?

5 A, fAvaT a1 S 3 Tt gal 6t v Hieft 3erafds
zqef 2 AB den vas fad® 3arafas mef2aco
ol gal B! HaAel: A, Bd ¢, D w2z el sedt 21afk co
= 24 A, At A B Farg (. ) sra HifAe)

(A) 27 (B) 25

(C) 26 (D) 30
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145. A circle of diameter 8 cm is placed in such a
manner that it touches two perpendicular lines.
Then another smaller circle is place in the gap
such that it touches the lines and the circle.
What is the diameter of the smaller circle?

8 cm ATH TSI UH JaAsA TSR ZA A ¢ B ag @
wER &a Ensl &t Tef sear 21 bz ve 3y
Afls BT ga R ®=a & 38 wesr 7o I ¢ &
ag aal 2Ensil 3R ga &) wef sean 21 B2 ga &
A TATE ?

(A) 4(3 - V2)cm

(B) 4(3 - 2V2)cm

(C) 8(3 - V2)cm

(D) 8(3 - 2V2)cm
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146. A sacant PAB is drawn from an external

point P to the circle with centre O, intersecting it
atAand B. if OP=17cm,PA=12cmand PB = 22.5

cm, then the radius of the circle is:

faseft arg) AT p & Fow a1 ga a& i o1 Ak
PAB, 3d &I fag A 3z B w2 wfd=3fRa wedft 21 alk
OP=17cm,PA=12cm 3RPB=225cm ¢, A g

&1 A Fira HifAe)
(A) V19 cm (B) V17 cm
(C)3VZcem (D) 2V3 cm
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147. if PA and PB are tangents drawn to a circle

with centre O at A and B from external point P
such that £ APB = 78° then £OAB is equal to:

gk pasilzreag AP A &z a1 ga & AT A 32
B gz Ffteft orf Twef2ame €, i sa vt 2 1 cAPB =
78° 2, @t LOAB &1 ATl ATd He

(A)12° (B) 29°

(C) 39° (D) 36°
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148. From an external point A, two tangents AB
and AC have been drawn to a circle touching
the circle at B and C respectively. P and Q are
points on AB and AC respectively such that PQ
touches the circleatR.If AB=11cm, AP=7cm
anc; AQ = 9 cm, then find the length of PQ (in
cm).
wqaqza;?ﬁ’gaua,z’tmefm‘\a e AC
st orf €, o water: AT B 3 ¢ W gu & ef
®edt g1 AB 312 AC Uz fag P 3T Q HHel: 38 USKR
fRa £ & pQ gu &1 fdg R uz el wedt 1af? AB =
Ncm, AP = 7 cm 312 AQ = 9 cm &, @t pQ & Fard
At A) sra s
ia; 8
) B

ot
EEl B
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149. In the figure below, rectangle ABCD is
inscribed in the circle with centre with centre at

O. The length of side AB is greater than side BC.
The ratio of the area of the circle to the area of
the rectangle ABCD is i1 :y/3. The line segment DE

intersects AB at E such that the 20DC = 2 ADE.
The ratio AE: AD is faas1 f@3 & va 3134 ABCD

fA@a®1 &aw 0 21 3wt AB &l Faard ofTBC A
2l?$mamm$mm:ﬁmﬁn:
V3 gl

SHATHAVE DE, AB B ER ZAAGE drear ¢ &
£ODC = £ADE Al AE: AD &1 3{[qTd &1 191 ?
(A) V2
(B)1: V3
(C)1:2
(D) 122
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150. Two circles, each of which passes through
the centre of the other, intersects at points M

and N. A line from M intersects the circle at K
and L, as illustrated in figure. If KL = 6 cm, com~-
pute the area of AKLN.

2! 99 UH-THe & dog & Bde EGit M AT N
nzgza t"lzzgaqan M A wﬂ?m gel &1 K
azmwzﬁa?ﬁ;luﬁm: 6 Aaft 2 At Aot KLN &1
AABS AT |

(A) 6V3 cm?
(B) 9v3 cm?
(C);-\? cm*
(D) 8V3 cm?
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151. In the given figure, PQRS is a square whose
side is 8 cm. PQS and QPR are two quadrants. A
circle is placed touching both the Quadrants
and the square as shown in the figure. What is
the radius of the circle?

& o€ anpfa A, PQrs s T ¢ AT oo 8 A,
g1 PQs a2 Qpaqaasz’lgafmtlm qad
arell aqef e den af &1 wgef e ot
wpfad A zefar g igas AT aa g ?

(A)1/2
ia) 1/4
C)2

(D)1
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152. In the given figure, PT is a common tangent
to three circles at points A, B and C respectively.
The radius of the small, medium and large
circlesis4dcm,6cmand 9cm. O,, O: and O, are
the centre of the three circles. What is the value
incm) of PC?

g 3rpia A, pr die gat ue et A wavern: A,
B dAT C U2 JufA of 2an 31 BI2, ;e aen
magqa’fﬁﬁmm. 6 @M. vd 9 Aft. 210,
0. a1 0,, diail gal & &ew €1 PC &1 AT (aaﬂ.af)
e ?
(A) 18V6
(B) 9V6

(C) 246
(D) 15V6
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153. Two chords 2a and 2b of a circle are
perpendicular to each other at a point they meet. If
the distance between the centre of circle to this

point is ¢ (c < radius of circle) then what is radius of
circle.

UH ﬁzomzbmﬁamzmwﬁw
& z’ra’raﬁarﬁwguﬁmm . af2 g9 & dow A
fag H1 g ¢ (c« gu Sl fAwm), AAga St A

[az,bz,(z
(AJa+b+c (B) |
\ 4
Jal+bi—-c2 a2+ b2+
|
(©) == (D) [
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154. In the given figure, MNOP is a square of side

6 cm. What is the value (in cm) of radius of

circle? @ 1€ angpfa A mnop, 6 Al oo a1 v
Fftigad A s aa (. A) &= g 2

(A) 4.25
(B) 3.75
(D) 4.55
(C)3.5




___B Maths By Pradeep Sir i .

155. In the given diagram. radius of larger circle
is 5 cm and an another circle touch larger circle
at point P and passes through it center O.PS is
chord of larger circle which cuts. Smaller circle
at point R. if OR is equals to 4cm then find the

PS.
fRasar a2 ga$t A s aan zA vas BT ga P
wm:me?gzmtlammmawzglatl
m;;mqaﬁnwmthR=4cmHYSP
STd &




Maths By Pradeep Sir -

156. In the given figure, CD and AB are diameters of
circle and AB and CD are perpendicular to each
other. LQ and SR are perpendiculars to AB and CD
respectivety. Radius of circle is 5 cm, PB: PA-2:3and
CN:ND=2:3. What is the length (in cm) of SM?

& 1€ 3npfd A cD dAT AB §d & TH ¢ dAT AB FAT CD
U e U2 Had £1 LQ JAT SR B2 AB dAT CD W Had
piIga S A s A 2, PB: PA2: 3TATCN:ND = 2:3 81

sMm Bt Faard (A A) g ?
(A) [(5V3) -3
(B) (4\5) o

—

(C) (2 g) - 1
(D) |(2v6) - 1]
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157. In the figure below, a circle is inscribed
inside a square. In the gap between the circle
and the square (at the corner) a rectangle
measuring 20 cm. x 10 cm. is drawn such that
the corner A of the rectangle is also a point on

the circum- ference of the circle. What is the
radius of the circleincm. ?

22 A A3 & 3maa AQPRr (20 x 10) & & 3ma4a
ABCD & 3iavfa ga &l fAva sita &2 ?
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158. In the given figures AD is a straight line. OP

is perpendicular to line AD and O is the centre of
both the circles. If OA =20 cm, OB =15 cm and
OP = 12 cm, then what is the length of AB? 3U¢
fav are fra & Ap @Ies 2an R, op 3@ AD W2 S R
31z 2Yeit gl &1 dow 213k 0A = 20 Aft, 0B =15
Aaft. 3z op = 12 @M. At A Fl Fard fBasft 2 2
(A) 7em (B)8cm

(C)10ecm (D)12em
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159. D, E and Fare the feet of the perpendiculars
from the vertices A, B and C. respectively, of a
triangle ABC. If angle BED and angle BFE in
degrees) are 24 and 110. respectively, what is
the measure (in degrees) of angle EBF?

vs Aot ABc A 2fid A, B 3fl2 c A a2l D, E 3T F
&da & Uiz g1 af? &tor Bep 312 &t BFE (3021 &)
A2l 24° 3T N0° E, A BT EBF BT AT (321 H)
faangon 2

(A) 55 (B) 67

(C) 46 (D) 86
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160. The sum of the internal angles of a regular

polygon is 1440°. The number of sides is:

TS AAGEHA & Hiafes SN &1 T1 1440° 2
a1t &t iz faeft ¢ 2

(A) 12

(B)6

(c)s

(D)10
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161. The ratio of sides of two regular polygon are

I: 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular
polygon.

& Al B aonal &1 qura 12 ¢ R IS
diafes Sl & dta &1 squra 23 21 ARk 35 A=l

agIon &t a3l H iz waver: fasf § 2
(A) 6,12 (B) 5,10
(C)as C)EAL
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162. if number of diagonals of any regular

polygon is 14, then value of each interior angle

of polygen is.
af? f&eft Fsrage & el &t iz 14 ¢, @t 35

TEAHA B UAS AToafed BT BT AT 191 ?
(A) 120°

(3)128;'

(C) 135%
(D) 140°
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163. If the measure of each exterior angle of a

regular polygon is (Sl%) then the ratio of the
number of its diagonals to the number of its sides is:

U HA-TLHA S TAS ARA ST H A9 (512) 2zES
fA@orl &t dz 3 sadT oAl 6t e &1 se[uTa Fa
g?

(A) 5:2

(B)13:6

(C) 3

(D) 22
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164. If each interior angle of a regular polygon is

(1282) , then what is the sum of the number of
its diagonals and the number of its sides ? af2

fseft Forage( &1 vl® siafld® Sl (1282) B, A

Ta® fAwvil 6 sz it 3aH sl Ht dem @
aTEaE?

A)15

B)19

C)17

(D) 21
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164. ABCD is a trapezium where AD | BC. The diagonal
AC and BD intersect each other at the point 0. If A0 =
3,CO=x~-3,D0 = 3x - 19and BO = x - 5, the value of
X is-

ABCD U® Jaiesad ¢, fA@d Ap || se 21 fdwof ac 3z 8D
UH-ge Bl g war sra giaR A0 =3,co=x-
3,D0=3x-19 HRBO=x5, A x BT ATHATATE ?

(A)-8,-9

(B)8,9

(C)-8,9

(D)8, -9




Maths By Pradeep Sir

166. If ABCDEF is a regular hexagon, then what is
the value (in degrees) of ZADB?

af2 ABCDEF U® HAUCHA &, @l LADB &I AT
() Awm g2

(A)15

(B) 30

(C) a5

(D) 60




Maths By Pradeep Sir

167. In the adjoining figure there are two
congruent regular hexagons with side 6 cm. f2

1é 3npfa A 2 Fafraa wzaw & udds &t oo 6

What is the ratio of area of ABDF and APQR, if P,
Q and R are the mid points of side AF, BC and

DE?

dl aansil ABDF : APQR & SABS! H1 aan
ZI9T, AET P, Q, R a2l DE, AF, BC & Heg £?
(A; 6:5 ga; 7:6

(C) 43 D)1}
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168. In a figure AE = BC and AE || BC and length of
AB, CD and ED are same then if ZA =102°, 4BCD
=7?

fae are f@a & AE = BC @1 AE || BC @2 it o
AB, CD @ ED &aTE A
&1 AT STd Hel

(A) 138°

(B)162°

(C) 88°

(D) zaH A HIE At
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169. An equilateral triangle of area 300 cm?® is

cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of

the area of triangle?

vs HAag R as daws 300 A2 ¢, &
Iaa& i ofteT &) v T aaat & fAe Hren
AT 21 9T &1 TGS A & AaGe &1 fBaen

ufderag?
(A) 66.66% (B) 33.33%
(C) 83.33% (D) 56.41%




